Math 10 Pre IB

Equations of Lines


NAME:________________________
1.  Write the equation of the line with the following conditions:

	(a) passing through the points (4,7) and (-2,-1)
	(b) passing through (-5,2) and parallel to the line 
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	(c) y – intercept of 7 and perpendicular to the line 
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	(d) passing through (1,4) and perpendicular to the line 
[image: image3.wmf]5

2

-

=

-

y

x

.


2.  Find the equation of the perpendicular bisector of AB for:

	(a) A (3,-3) and B (1,-1)
	(b) A (1,3) and B (-3,5)




	3.  Two Post offices are located at P (4,5) and Q (2,9) on a Council map.  What is the equation of the line which should form the boundary between the two regions being served by the Post Offices?




	4.  Find the equation of the tangent to the circle with centre (5,-4) at the point (8,-2).




	5.  Given A (-3,1), B (1,4) and C (4,0):

(a) Show that the triangle ABC is isosceles.



	(b) Find the midpoint, X, of AC.


	(c) Find the equation of BX.  Compare the gradient of BX to the gradient of AC.




	6.  A circle passes through the points A(6,5), B(8,-1) and C(0,3).  Find the perpendicular bisectors of [AB] and [BC] then solve the system of equations to find the centre of the circle.




	7.  Find the distance from the point to the line:

(a) (5,2) 
3x – y = -6 

(b) (-2,5) 
3x + 4y = 9
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